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i int armmt [] = {-5,15,6,7,.,3,10,25};
= int toplama =0 ;
=
i for {(imt x=0; =< armut.length ; x++} {
i i toplama+— armut [x] ;
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4| [ dmport Java.uautil . RandoDmo;
=
= rukblic class JavahpplicationddS {
i =1 public static woid madfr{Stringl]l] azg=s)y {
5] Random sawywi — new Randomd{) ; =
= dnmnt mumar=a [J— new int|[T] 2
i
a3 fox { ot mar = 1l; =m=axr = 49; =ax++) {
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package javaapplicationdi;

pubklic class JavaipplicationddS {

Tor {(Aimt ==

—[=1 public static woid main{Stringl[]

int meyve [1= {2,4,5,6,7};
inmt toplam =— O;

meywe )
toplam +— x;
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package javaapplicationdd;

pubklic class Javabhpplicationdf® |

pukbklic static wvoid maifirn(String[] arg=)} {
int =ebze [1={3,4,.5,6&6, 7.8}

chang=s({=eb=e) ;
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String arrays:

Public static void main (String [ ] argiments) {

System.out.print
System.out.print
System.out.print

n (arguments.length);
n (arguments[0]);
n (arguments [1]);
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a8 imt [ 1 deger = new int[S] :
= imt 4 =0 —

i ]

i W while (ivdeger. lengizh) { |

1= degexr [A] = 4i;

1= imt w — degexr[A] * degex[4i] -

14 Svstem. couut.println (v} ;
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2 package javaapplicationdd; raappllcatlun-&-ﬂ;

3
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5 puklic class JavaApplicationdd {

6 iz JavalApplicationdd |

)

g8 [ public static void main(String[] args) { :

3 = =
10 int elma []= new int[10]; _ ) ) . ) 1
11 clma [0]= &7; static wvoid main(String[] args) {

12 elma [1]= 7; -

13 elma [3]= &; _

14 clma [9]= 870; : [ ] wvalues = {948, 100, 101 };
15 rtem. cut.println({values[2]);

@ System. cut.println({elma[0]}; — . - .

17 le appllicatlion 1oglc nere

is ff TCODO code application logic here

19 L }
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5
& [=] rubklic static wold main(String[] arg=) i
= dmt motma [J= mew i1nt [] -
a8 moitua [O] = T7F
9 motula [ = 84:;
10 motua [Z2] = 80;
11 motlm [F] = 9&;
iz
13 String [] ogrenci — new String [J{1{"canmn™ ., "kamo", "bham", "mano™ s
14 Svstem. ocnnt.princE ("F#WtOgrencihNtMoocuay\m™) -
15 Syv=stem. out . printf{("—“t——————— Weoe——————— W™y -
1&
17 Ffor (imt i=—=0; i<notu. lengthy d144) 1
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4 public class JavaspplicationTe {

5

6| =] public static wolid main(String[]l args) 1

7

= inmt nmot []= mew int [S5] -

9 not [O0)1= 10;

10 not- [A]1= 100;

11 not [Z1= 5:

12 not [3]= 9:

13 not [21= 3:

14

15 String &d []= new String[l{"can™, "han",  "kan" _,  "man™, "zan™}
146 double toplam =0.0;

17

18 Svstem.ocnt.princf ("F\thd\tHoch\n™)

149 Svstcem. cut.princf("—%t——————— Wtet————— W™y s

20

21 for (imt i=0; i<not.length;, i4+4) 1

L System.ﬂut.printfﬂ“%ﬂkt%sht%ﬂhu“,i,ﬂd[i],nﬂt[i]}d
23 coplam += not[i]:
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25 doulble ortalama = toplam J not.length;

26 System.cutbt.princf ("Sina ortalamasi %4 .Z2fW\n",orcalama) ;
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Z package javaapplicationb7:

3
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5 public claszs Javahipplicationid7 |

=3

7

g = public static void main{String[] args)
g int []deger = new int[5]:

1a

11 for (int i=0;

1z deger [i]= 1i:

13 int ¥ = deger [i]* deger [i]:
14 System.out.printlniv):

15 }
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17 SS TODD code application logic here
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= package JavaapplicatioconST:
=
=
5 public class Javadpplications7 [
(=3
i
=T pulblic static volid main{(Stringl[]
o int [] savi = new int [S] -
10 int i=0;
11 while {i<savi.length){
1= savyi [1i]l=1ir
1= int v = savi [1i] * savi [1]:
14 Svastem. cut.println{y) -
15 i++=-
1e }
u ) S TODDD code application logic hers
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1
2 package javaapplicationfS9;
MESAJ KUTUSU UYGULAMASI 3 [ import javax.swing.JOptionPane:
4 public class JavalpplicationSs {
5
6 [ public static void main(String[] args) {
7
8 String ad;
9 int =ay:
10
11 ad = JOptionPane.shovIinputDialeg(ad gir: ") ;
12 say =ad.length();
13 JOoptionPane . showvMessagelMalog(null, "Your name: "+3ay +" karakter"):
14 System.=xit(0)
15
18 - } Input W
17 i
18 ¥ ? ad gir:
19 | |
OK Cancel
b




